|  | Gazi University |  |
| :---: | :---: | :---: |
|  | Journal of Science |  |
|  | PART A: ENGINEERING AND INNOVATION |  |
|  | $\underline{\text { http://dergipark.org.tr/gujsa }}$ |  |

# Certain Finite Sums Pertaining to Leibnitz, Harmonic and Other Special Numbers 

Neslihan KILAR ${ }^{1 *}$ (<br>${ }^{I}$ Niğde Ömer Halisdemir University, Bor Vocational School, Department of Computer Technologies, Niğde TR-51700 Turkey



## 1. INTRODUCTION

It is well known that certain finite sums including special numbers and special functions have taken their place among the main subjects of the studies of many researchers in recent years. Because these sums contain formulas and relations that are frequently used in mathematics, engineering and other branches of science due to their properties. For this reason, they are frequently used in modeling design and other situations involving many real-world problems.

In present manuscript, we give some certain finite sums and relations covering both the Leibnitz, Harmonic, Changhee, Daehee, and Apostol type Euler numbers, and also the Fubini type numbers and polynomials. In order to obtain these results, let us introduce the following notations and definitions that we will use throughout this manuscript:

Let $\mathbb{N}=\{1,2,3, \ldots\}, \mathbb{C}$ denotes by complex numbers and $\mathbb{N}_{0}=\{0,1,2,3, \ldots\}$. Let

$$
\binom{\omega}{k} k!=(\omega)_{k}=\omega(\omega-1) \ldots(\omega-k+1)
$$

with $(\omega)_{0}=1, k \in \mathbb{N}, \omega \in \mathbb{C}$ and

$$
0^{s}= \begin{cases}1, & s=0 \\ 0, & s \in \mathbb{N}\end{cases}
$$

(Gould, 1972;-;Srivastava \& Kızılateş, 2019).
The numbers $E_{r}^{*(-k)}(\vartheta)$ are defined by

$$
\begin{equation*}
Z_{E}(t, k, \vartheta)=\left(\frac{\vartheta e^{t}+\vartheta^{-1} e^{-t}}{2}\right)^{k}=\sum_{r=0}^{\infty} E_{r}^{*(-k)}(\vartheta) \frac{t^{r}}{r!} \tag{1}
\end{equation*}
$$

where $k \in \mathbb{N}$ and $\vartheta \in \mathbb{C}$. The numbers $E_{r}^{*(-k)}(\vartheta)$ are called the second kind Apostol type Euler numbers of order - $k$ (Simsek, 2017; 2018; 2022a).

The numbers $W_{r}^{(-k)}(\vartheta)$ are defined by

$$
\begin{equation*}
\mathcal{Z}_{W}(t, k, \vartheta)=\left(\vartheta e^{t}+\vartheta^{-1} e^{-t}+2\right)^{k}=\sum_{r=0}^{\infty} W_{r}^{(-k)}(\vartheta) \frac{t^{r}}{r!} \tag{2}
\end{equation*}
$$

where $k \in \mathbb{N}$ and $\vartheta \in \mathbb{C}$ (Simsek, 2017; 2018; 2022a; see also Kucukoglu \& Simsek, 2018; Kucukoglu et al., 2019).

By using (1) and (2), one has

$$
\begin{equation*}
W_{r}^{(-k)}(\vartheta)=2^{k} \sum_{j=0}^{k}\binom{k}{j} E_{r}^{*(-j)}(\vartheta) \tag{3}
\end{equation*}
$$

(Simsek, 2017; 2018; 2022a).
The Daehee numbers are defined by

$$
\begin{equation*}
D_{r}=(-1)^{r} \frac{r!}{r+1} \tag{4}
\end{equation*}
$$

(Kim \& Kim, 2013; see also Simsek, 2019).
The Changhee numbers are defined by

$$
\begin{equation*}
C h_{r}=(-1)^{r} \frac{r!}{2^{r}} \tag{5}
\end{equation*}
$$

(Kim et al., 2013; see also Simsek, 2019).
The Leibnitz numbers are defined by

$$
\begin{equation*}
\boldsymbol{l}(r, b)=\frac{\binom{r}{b}^{-1}}{(r+1)^{\prime}} \tag{6}
\end{equation*}
$$

where $b=0,1,2, \ldots, r$ and $r \in \mathbb{N}_{0}$ (for detail, see Simsek, 2021a). Recently, Simsek (2021a) has given some results associated with the Leibnitz, Daehee, Changhee and other well-known special numbers.

Simsek (2021a (Theorem 2.9. and Theorem 2.10.)) gave the following formulas

$$
\begin{equation*}
2 q!\sum_{b=0}^{q} \boldsymbol{l}(q, b)-q!\sum_{b=0}^{q-1} \boldsymbol{l}(q-1, b)=2(-1)^{q} D_{q} \tag{7}
\end{equation*}
$$

and

$$
\begin{equation*}
2(1+q) \sum_{b=0}^{q} \boldsymbol{l}(q, b)-(1+q) \sum_{b=0}^{q-1} \boldsymbol{l}(q-1, b)=2 . \tag{8}
\end{equation*}
$$

The Harmonic numbers, $H_{r}$, are defined by

$$
H_{r}=\sum_{b=1}^{r} \frac{1}{b}
$$

(for detail, see Simsek, 2021b, 2021c, 2021d; 2022b, 2022c). From the above equation, we have

$$
\begin{equation*}
H_{r+1}-H_{r}=\frac{1}{r+1} \tag{9}
\end{equation*}
$$

(Simsek, 2021b, 2021c; 2022b, 2022c).
Kilar and Simsek (2017) defined the following the Fubini type numbers $a_{r}^{(n)}$ :

$$
\begin{equation*}
\frac{2^{n}}{\left(2-e^{t}\right)^{2 n}}=\sum_{r=0}^{\infty} a_{r}^{(n)} \frac{t^{r}}{r!}, \tag{10}
\end{equation*}
$$

where $n \in \mathbb{N}_{0}$ and $|t|<\ln (2)$ (for detail, see Kilar \& Simsek, 2019a, 2019b; 2021a, 2021b; Kilar, 2023a, 2023b).

When $n=1$ in (10), we get

$$
a_{r}^{(1)}=a_{r} .
$$

Kilar and Simsek (2017) defined the following polynomials $a_{r}^{(n)}(x)$ :

$$
\begin{equation*}
\frac{2^{n}}{\left(2-e^{t}\right)^{2 n}} e^{x t}=\sum_{r=0}^{\infty} a_{r}^{(n)}(x) \frac{t^{r}}{r!} . \tag{11}
\end{equation*}
$$

From (10) and (11), we have

$$
a_{r}^{(n)}(x)=\sum_{b=0}^{r}\binom{r}{b} x^{r-b} a_{b}^{(n)}
$$

(Kilar \& Simsek, 2017; 2019a, 2019b; 2021a, 2021b; Kilar, 2023a, 2023b).

Two parametric polynomials $a_{r}^{(C, n)}(x, y)$ and $a_{r}^{(S, n)}(x, y)$ are defined, respectively, by

$$
\begin{equation*}
z_{a c}(t, n, x, y)=\frac{2^{n} e^{x t}}{\left(2-e^{t}\right)^{2 n}} \cos (y t)=\sum_{r=0}^{\infty} a_{r}^{(C, n)}(x, y) \frac{t^{r}}{r!} \tag{12}
\end{equation*}
$$

and

$$
\begin{equation*}
z_{a s}(t, n, x, y)=\frac{2^{n} e^{x t}}{\left(2-e^{t}\right)^{2 n}} \sin (y t)=\sum_{r=0}^{\infty} a_{r}^{(s, n)}(x, y) \frac{t^{r}}{r!} \tag{13}
\end{equation*}
$$

(Srivastava \& Kızılateş, 2019). When $y=0$ in (12), one can see that

$$
a_{r}^{(C, n)}(x, 0)=a_{r}^{(n)}(x)
$$

Simsek (2021b) defined the following finite sum which is called the numbers $\boldsymbol{y}(r, \vartheta)$ :

$$
\begin{equation*}
\boldsymbol{y}(r, \vartheta)=\sum_{b=0}^{r} \frac{(-1)^{r}}{(1+b) \vartheta^{b+1}(\vartheta-1)^{r+1-b}} \tag{14}
\end{equation*}
$$

(see also Simsek, 2021c, 2021d; 2022b, 2022c).
Simsek (2022b (Equation (59))) gave the following formula

$$
\begin{equation*}
\boldsymbol{y}(r-1, \vartheta)+(\vartheta-1) \boldsymbol{y}(r, \vartheta)=\frac{(-1)^{r}}{(r+1) \vartheta^{r+1}} . \tag{15}
\end{equation*}
$$

When $\vartheta=\frac{1}{2}$ in the above equation, we get

$$
\begin{equation*}
2 \boldsymbol{y}\left(r-1, \frac{1}{2}\right)-\boldsymbol{y}\left(r, \frac{1}{2}\right)=\frac{(-1)^{r} 2^{r+2}}{r+1} \tag{16}
\end{equation*}
$$

(Simsek, 2022b (Equation (61))).

## 2. MAIN RESULTS

Using the generating functions which are introduced previous section, many miscellaneous identities involving the Fubini type numbers, the numbers $E_{m}^{*(-k)}(\vartheta)$ and the numbers $W_{m}^{(-k)}(\vartheta)$, are given. Using derivative and integrate operators, some certain finite sums and formulas pertaining to the Leibnitz, Harmonic, Changhee and Daehee numbers and also the numbers $\boldsymbol{y}(m, \vartheta)$, are presented. Moreover, some applications of the obtained results are given.

Theorem 2.1. For $u \in \mathbb{N}_{0}$ and $d \in \mathbb{N}$ yields

$$
\begin{equation*}
\sum_{b=0}^{\left[\frac{u}{2}\right]}\binom{u}{2 b}(-1)^{b} y^{2 b}(x-d)^{u-2 b}+(-1)^{d+1} \sum_{b=0}^{u}\binom{u}{b} W_{u-b}^{(-d)}\left(-\frac{1}{2}\right) a_{b}^{(c, d)}(x, y)=0 \tag{17}
\end{equation*}
$$

Proof. By using (2) and (12), we have

$$
e^{(x-d) t} \cos (y t)=(-1)^{d} z_{W}\left(t, d,-\frac{1}{2}\right) z_{a c}(t, d, x, y)
$$

From above equation, we get

$$
\sum_{u=0}^{\infty}(x-d)^{u} \frac{t^{u}}{u!} \sum_{u=0}^{\infty} \frac{(-1)^{u}(y t)^{2 u}}{(2 u)!}=(-1)^{d} \sum_{u=0}^{\infty} W_{u}^{(-d)}\left(-\frac{1}{2}\right) \frac{t^{u}}{u!} \sum_{u=0}^{\infty} a_{u}^{(C, d)}(x, y) \frac{t^{u}}{u!}
$$

Thus,

$$
\sum_{u=0}^{\infty} \sum_{b=0}^{\left[\frac{u}{2}\right]}(-1)^{b}\binom{u}{2 b}(x-d)^{u-2 b} y^{2 b} \frac{t^{u}}{u!}=\sum_{u=0}^{\infty} \sum_{b=0}^{u}\binom{u}{b}(-1)^{d} W_{u-b}^{(-d)}\left(-\frac{1}{2}\right) a_{b}^{(C, d)}(x, y) \frac{t^{u}}{u!} .
$$

Therefore, Equation (17) is derived.
When $y=0$ in (17), we get the Corollary 2.2:

## Corollary 2.2.

$$
\begin{equation*}
(x-d)^{u}=\sum_{b=0}^{u}\binom{u}{b}(-1)^{d} W_{u-b}^{(-d)}\left(-\frac{1}{2}\right) a_{b}^{(d)}(x) . \tag{18}
\end{equation*}
$$

Applying derivative operator $\frac{\partial^{u}}{\partial x^{u}}$ to the Equation (18), we get

$$
\begin{equation*}
\frac{\partial^{u}}{\partial x^{u}}\left\{(x-d)^{u}\right\}=\sum_{b=0}^{u}(-1)^{d}\binom{u}{b} W_{u-b}^{(-d)}\left(-\frac{1}{2}\right) \frac{\partial^{u}}{\partial x^{u}}\left\{a_{b}^{(d)}(x)\right\} . \tag{19}
\end{equation*}
$$

Since

$$
\frac{\partial^{u}}{\partial x^{u}}\left\{a_{b}^{(d)}(x)\right\}=(u)_{b} a_{b-u}^{(d)}(x)
$$

(Kilar \& Simsek, 2017), after some elementary calculations, Equation (19) is derived as follows:

$$
\begin{equation*}
u!=(-1)^{d} u!W_{0}^{(-d)}\left(-\frac{1}{2}\right) a_{0}^{(d)}(x) . \tag{20}
\end{equation*}
$$

Since

$$
a_{0}^{(d)}(x)=2^{d},
$$

Equation (20) reduced to the following special result:

$$
W_{0}^{(-d)}\left(-\frac{1}{2}\right)=\frac{(-1)^{d}}{2^{d}} .
$$

Theorem 2.3. For $u, d \in \mathbb{N}$ yields

$$
\begin{equation*}
\sum_{b=0}^{\left[\frac{u-1}{2}\right]}\binom{u}{2 b+1}(-1)^{b}(x-d)^{u-2 b-1} y^{2 b+1}+\sum_{b=0}^{u}(-1)^{d+1}\binom{u}{b} W_{u-b}^{(-d)}\left(-\frac{1}{2}\right) a_{b}^{(S, d)}(x, y)=0 \tag{21}
\end{equation*}
$$

Proof. By (2) and (13), we have

$$
e^{(x-d) t} \sin (y t)=(-1)^{d} Z_{W}\left(t, d,-\frac{1}{2}\right) z_{a s}(t, d, x, y)
$$

Using the above functional equation, we have

$$
\begin{array}{r}
\sum_{u=0}^{\infty} \sum_{b=0}^{\left[\frac{u-1}{2}\right]}\binom{u}{1+2 b}(-1)^{b} y^{1+2 b}(x-d)^{u-2 b-1} \frac{t^{u}}{u!} \\
=\sum_{u=0}^{\infty} \sum_{b=0}^{u}(-1)^{d}\binom{u}{b} W_{u-b}^{(-d)}\left(-\frac{1}{2}\right) a_{b}^{(S, d)}(x, y) \frac{t^{u}}{u!}
\end{array}
$$

Thus, Equation (21) is obtained.
Combining (17) with (3), we get the Theorem 2.4:
Theorem 2.4. For $u \in \mathbb{N}_{0}$ and $d \in \mathbb{N}$ yields

$$
\sum_{b=0}^{\left[\frac{u}{2}\right]}(-1)^{b}\binom{u}{2 b} y^{2 b}(x-d)^{u-2 b}=(-2)^{d} \sum_{b=0}^{u}\binom{u}{b} \sum_{k=0}^{d}\binom{d}{k} a_{b}^{(C, d)}(x, y) E_{u-b}^{*(-k)}\left(-\frac{1}{2}\right)
$$

By combining (21) with (3), we derive the Theorem 2.5:
Theorem 2.5. For $u, d \in \mathbb{N}$ yields

$$
\sum_{b=0}^{\left[\frac{u-1}{2}\right]}(-1)^{b}\binom{u}{2 b+1} y^{2 b+1}(x-d)^{u-2 b-1}=(-2)^{d} \sum_{b=0}^{u}\binom{u}{b} \sum_{k=0}^{d}\binom{d}{k} a_{b}^{(\mathrm{S}, d)}(x, y) E_{u-b}^{*(-k)}\left(-\frac{1}{2}\right) .
$$

Theorem 2.6. For $u \in \mathbb{N}_{0}$ and $d \in \mathbb{N}$ yields

$$
\begin{equation*}
\frac{(1-d)^{u+1}+d(-d)^{u}}{u+1}=\sum_{b=0}^{u} \sum_{p=0}^{b}\binom{u}{b}\binom{b}{p} W_{u-b}^{(-d)}\left(-\frac{1}{2}\right) \frac{(-1)^{d} a_{p}^{(d)}}{b-p+1} . \tag{22}
\end{equation*}
$$

Proof. Integrating both sides with respect to $x$ of (18), we obtain

$$
\int_{0}^{1}(x-d)^{u} d x=(-1)^{d} \sum_{b=0}^{u}\binom{u}{b} W_{u-b}^{(-d)}\left(-\frac{1}{2}\right) \int_{0}^{1} a_{b}^{(d)}(x) d x
$$

Hence

$$
\frac{(-1)^{u+2} d^{u+1}+(1-d)^{u+1}}{1+u}+\sum_{b=0}^{u} \sum_{p=0}^{b}\binom{b}{p}\binom{u}{b} W_{u-b}^{(-d)}\left(-\frac{1}{2}\right) \frac{(-1)^{d+1} a_{p}^{(d)}}{b+1-p}=0
$$

From the above equation, we get the Equation (22).
Gould (1972 (p. 5, Equation (1.37)) gave the combinatorial finite sum:

$$
\begin{equation*}
\frac{(x+1)^{v+1}-1}{x(1+v)}=\sum_{s=0}^{v}\binom{v}{s} \frac{x^{s}}{1+s} \tag{23}
\end{equation*}
$$

Using (23), Equation (22) is reduced to as follows:

## Corollary 2.7.

$$
\begin{equation*}
\sum_{b=0}^{u}\binom{u}{b} \frac{(-d)^{u}(-1)^{b}}{(b+1) d^{b}}=\sum_{b=0}^{u} \sum_{p=0}^{b}\binom{u}{b}\binom{b}{p} W_{u-b}^{(-d)}\left(-\frac{1}{2}\right) \frac{(-1)^{d} a_{p}^{(d)}}{b-p+1} \tag{24}
\end{equation*}
$$

Replacing $\vartheta$ by $\frac{1}{d}$ in (15), we have

$$
\begin{equation*}
y\left(q-1, d^{-1}\right)+\left(d^{-1}-1\right) y\left(q, d^{-1}\right)=-\frac{(-d)^{q+1}}{1+q} \tag{25}
\end{equation*}
$$

Replacing $\vartheta$ by $\frac{1}{d-1}$ in (15), we also have

$$
\begin{equation*}
\boldsymbol{y}\left(q-1,(d-1)^{-1}\right)+\left((d-1)^{-1}-1\right) \boldsymbol{y}\left(q,(d-1)^{-1}\right)=-\frac{(1-d)^{q+1}}{q+1} \tag{26}
\end{equation*}
$$

Combining (26) and (25) with (22), we get

$$
\begin{aligned}
\boldsymbol{y}\left(q-1, d^{-1}\right)+\left(d^{-1}-1\right) \boldsymbol{y}(q, & \left.d^{-1}\right)-\boldsymbol{y}\left(q-1,(d-1)^{-1}\right) \\
& -\left((d-1)^{-1}-1\right) \boldsymbol{y}\left(q,(d-1)^{-1}\right) \\
= & \sum_{b=0}^{q} \sum_{p=0}^{b}\binom{q}{b}\binom{b}{p} W_{q-b}^{(-d)}\left(-\frac{1}{2}\right) \frac{(-1)^{d} a_{p}^{(d)}}{b-p+1} .
\end{aligned}
$$

From here, we get the Theorem 2.8:

Theorem 2.8. For $d \in \mathbb{N} \backslash\{1,2\}$ and $q \in \mathbb{N}$ yields

$$
\begin{align*}
& \boldsymbol{y}\left(q-1, d^{-1}\right)-\boldsymbol{y}\left(q-1,(d-1)^{-1}\right)+\left(\frac{1-d}{d}\right) \boldsymbol{y}\left(q, d^{-1}\right)+\left(\frac{2-d}{1-d}\right) \boldsymbol{y}\left(q,(d-1)^{-1}\right) \\
&=\sum_{b=0}^{q} \sum_{p=0}^{b}\binom{q}{b}\binom{b}{p} W_{q-b}^{(-d)}\left(-\frac{1}{2}\right) \frac{(-1)^{d} a_{p}^{(d)}}{b-p+1} . \tag{27}
\end{align*}
$$

Now it is time to give some interesting applications of Equation (24).
Substituting $x=-1$ into (23), we get

$$
\begin{equation*}
\sum_{b=0}^{q} \frac{\binom{q}{b}(-1)^{b}}{(b+1)}=\frac{1}{q+1} \tag{28}
\end{equation*}
$$

When $d=1$ in (24), and using (28), we get the Corollary 2.9:

## Corollary 2.9.

$$
\begin{equation*}
1=(q+1) \sum_{b=0}^{q} \sum_{p=0}^{b}\binom{q}{b}\binom{b}{p} W_{q-b}^{(-1)}\left(-\frac{1}{2}\right) \frac{(-1)^{1-q} a_{p}}{b-p+1} \tag{29}
\end{equation*}
$$

Moreover, substituting $d=2$ into (22) we obtain

$$
\left(2^{q+1}-1\right)(-1)^{q}=(q+1) \sum_{b=0}^{q} \sum_{p=0}^{b}\binom{b}{p}\binom{q}{b} W_{q-b}^{(-2)}\left(-\frac{1}{2}\right) \frac{a_{p}^{(2)}}{b-p+1}
$$

When $x=1$ in (23), and using the previous equation, we also obtain

$$
\begin{equation*}
\sum_{b=0}^{q}\binom{q}{b} \frac{(-1)^{q}}{b+1}=\sum_{b=0}^{q} \sum_{p=0}^{b}\binom{q}{b}\binom{b}{p} W_{q-b}^{(-2)}\left(-\frac{1}{2}\right) \frac{a_{p}^{(2)}}{b+1-p} \tag{30}
\end{equation*}
$$

Also, substituting $d=2$ into (24), we obtain

$$
\begin{equation*}
\sum_{b=0}^{q}\binom{q}{b} \frac{(-1)^{q+b}}{(1+b) 2^{b-q}}=\sum_{b=0}^{q} \sum_{p=0}^{b}\binom{q}{b}\binom{b}{p} W_{q-b}^{(-2)}\left(-\frac{1}{2}\right) \frac{a_{p}^{(2)}}{b-p+1} \tag{31}
\end{equation*}
$$

Combining (30) with (31), we derive the following presumably known result:

## Corollary 2.10.

$$
\sum_{b=0}^{\varphi} \frac{\binom{\varphi}{b}}{1+b}=\sum_{b=0}^{\varphi}\binom{\varphi}{b} \frac{(-1)^{b}}{(1+b) 2^{b-\varphi}}
$$

By using (22) and (4), we have

$$
\frac{(-1)^{q}}{q!} D_{q}-\frac{(d-1)^{q+1}}{d^{q+1}(q+1)}=\frac{1}{d^{q+1}} \sum_{b=0}^{q} \sum_{p=0}^{b}\binom{q}{b}\binom{b}{p} W_{q-b}^{(-d)}\left(-\frac{1}{2}\right) \frac{(-1)^{d+q} a_{p}^{(d)}}{b-p+1} .
$$

Using (7) and the above equation, we have the Theorem 2.11:
Theorem 2.11. For $q, d \in \mathbb{N}$ yields

$$
\begin{align*}
\sum_{b=0}^{q} \boldsymbol{l}(q, b)-\frac{1}{2} & \sum_{b=0}^{q-1} \boldsymbol{l}(q-1, b)  \tag{32}\\
& =\frac{\left(1-d^{-1}\right)^{q+1}}{q+1}+\frac{1}{d^{1+q}} \sum_{b=0}^{q} \sum_{p=0}^{b}\binom{q}{b}\binom{b}{p} W_{q-b}^{(-d)}\left(-\frac{1}{2}\right) \frac{(-1)^{d+q} a_{p}^{(d)}}{b-p+1}
\end{align*}
$$

Combining (9) with (8), we derive

$$
\sum_{b=0}^{q} \boldsymbol{l}(q, b)-\frac{1}{2} \sum_{b=0}^{q-1} \boldsymbol{l}(q-1, b)=H_{q+1}-H_{q}
$$

Using the above equation and (32), we get the Corollary 2.12:

## Corollary 2.12.

$$
H_{q+1}-H_{q}-\frac{\left(1-d^{-1}\right)^{q+1}}{q+1}=\sum_{b=0}^{q} \sum_{p=0}^{b}\binom{q}{b}\binom{b}{p} W_{q-b}^{(-d)}\left(-\frac{1}{2}\right) \frac{(-1)^{d+q} a_{p}^{(d)}}{d^{q+1}(b-p+1)} .
$$

Combining (32) with (27), we have the Corollary 2.13:
Corollary 2.13. For $d \in \mathbb{N} \backslash\{1,2\}$ and $q \in \mathbb{N}$ yields

$$
\begin{gathered}
d(d-1)\left(\boldsymbol{y}\left(q-1, d^{-1}\right)-\boldsymbol{y}\left(q-1,(d-1)^{-1}\right)\right)-(d-1)^{2} \boldsymbol{y}\left(q, d^{-1}\right)+d(d-2) \boldsymbol{y}\left(q,(d-1)^{-1}\right) \\
=(d-1) d^{q+2}(-1)^{q}\left(\sum_{b=0}^{q} \boldsymbol{l}(q, b)-\frac{1}{2} \sum_{b=0}^{q-1} \boldsymbol{l}(q-1, b)\right)-\frac{d(1-d)^{q+2}}{q+1} .
\end{gathered}
$$

When $d=3$ into Corollary 2.13, and using (16), we get the Corollary 2.14:

## Corollary 2.14.

$$
3 \boldsymbol{y}\left(q-1, \frac{1}{3}\right)-2 \boldsymbol{y}\left(q, \frac{1}{3}\right)=(-3)^{q+2}\left(\sum_{b=0}^{q} \boldsymbol{l}(q, b)-\frac{1}{2} \sum_{b=0}^{q-1} \boldsymbol{l}(q-1, b)\right)
$$

or, equivalently,

$$
3 \boldsymbol{y}\left(q-1, \frac{1}{3}\right)-2 \boldsymbol{y}\left(q, \frac{1}{3}\right)=(-3)^{q+2}\left(H_{q+1}-H_{q}\right) .
$$

When $d=2$ in (32), we get

$$
\begin{aligned}
2 \sum_{b=0}^{q} \boldsymbol{l}(q, b)- & \sum_{b=0}^{q-1} \boldsymbol{l}(q-1, b) \\
& =\frac{2^{-q}}{(q+1)}+2^{-q}(-1)^{q} \sum_{b=0}^{q} \sum_{p=0}^{b}\binom{q}{b}\binom{b}{p} W_{q-b}^{(-2)}\left(-\frac{1}{2}\right) \frac{a_{p}^{(2)}}{b+1-p} .
\end{aligned}
$$

Using (4), (5) and the above equation, we have

$$
\begin{aligned}
2 \sum_{b=0}^{q} \boldsymbol{l}(q, b)- & \sum_{b=0}^{q-1} \boldsymbol{l}(q-1, b) \\
& =\frac{2 C h_{q+1}}{(2+q)(1+q) D_{q+1}}\left(1+(1+q)(-1)^{q} \sum_{b=0}^{q} \sum_{p=0}^{b}\binom{q}{b}\binom{b}{p} W_{q-b}^{(-2)}\left(-\frac{1}{2}\right) \frac{a_{p}^{(2)}}{b-p+1}\right) .
\end{aligned}
$$

Using the previous equation and (30) (or (31)), the following result is derived:

## Corollary 2.15.

$$
2 \sum_{b=0}^{q} \boldsymbol{l}(q, b)-\sum_{b=0}^{q-1} \boldsymbol{l}(q-1, b)=\frac{2 C h_{q+1}}{(1+q)(2+q) D_{q+1}}\left(1+(q+1) \sum_{b=0}^{q} \frac{\binom{q}{b}}{b+1}\right)
$$

or, equivalently,

$$
2 \sum_{b=0}^{q} \boldsymbol{l}(q, b)-\sum_{b=0}^{q-1} \boldsymbol{l}(q-1, b)=\frac{C h_{q+1}}{(1+q)(2+q) D_{q+1}}\left(2+\sum_{b=0}^{q}\binom{q}{b} \frac{(-1)^{b}(q+1)}{2^{b-q-1}(b+1)}\right) .
$$

## 3. CONCLUSION

In this manuscript, some certain finite sums and identities included some special numbers were studied. Using certain special polynomials and numbers with generating functions, and integrating some results, various novel formulas, combinatorial finite sums and identities were given. These various results pertaining to the Leibnitz, Harmonic, Apostol type Euler, Changhee, Daehee, combinatorial and Fubini type numbers, and also the Fubini type polynomials. As a result, the results obtained in present manuscript may be usefulness in related sciences especially engineering and mathematics.

## CONFLICT OF INTEREST

The author declares no conflict of interest.

## REFERENCES

Gould, H. W. (1972). Combinatorial identities. Morgantown: Morgantown Printing and Binding Co.
Kilar, N. (2023a). Combinatorial sums and identities associated with functional equations of generating functions for Fubini type polynomials. Gazi University Journal of Science, doi:10.35378/gujs. 989270

Kilar, N. (2023b). Formulas for Fubini type numbers and polynomials of negative higher order. Montes Taurus Journal of Pure and Applied Mathematics, 5(3), 23-36.
Kilar, N., \& Simsek, Y. (2017). A new family of Fubini numbers and polynomials associated with ApostolBernoulli numbers and polynomials. Journal of the Korean Mathematical Society, 54(5), 1605-1621. doi:10.4134/JKMS.j160597

Kilar, N., \& Simsek, Y. (2019a). Some relationships between Fubini type polynomials and other special numbers and polynomials. AIP Conference Proceedings, 2116, 100017-1-100017-4. doi:10.1063/1.5114093

Kilar, N., \& Simsek, Y. (2019b). Identities and relations for Fubini type numbers and polynomials via generating functions and $p$-adic integral approach. Publications de l'Institut Mathématique, 106(120), 113123. doi:10.2298/PIM1920113K

Kilar, N., \& Simsek, Y. (2021a). Combinatorial sums involving Fubini type numbers and other special numbers and polynomials: Approach trigonometric functions and $p$-adic integrals. Advanced Studies in Contemporary Mathematics, 31(1), 75-87. doi:10.17777/ascm2021.31.1.75
Kilar, N., \& Simsek, Y. (2021b). Formulae to Fubini type numbers emerge from application of $p$-adic integrals. Gazi University Journal of Science Part A: Engineering and Innovation, 8(4), 402-410. doi:10.54287/gujsa. 980263

Kim, D. S., \& Kim, T. (2013). Daehee numbers and polynomials. Applied Mathematical Sciences (Ruse), 7(120), 5969-5976. doi:10.12988/ams.2013.39535

Kim, D. S., Kim, T., \& Seo, J. (2013). A note on Changhee numbers and polynomials. Advanced Studies in Theoretical Physics, 7, 993-1003. doi:10.12988/astp.2013.39117
Kucukoglu, I., \& Simsek, Y. (2018). Remarks on recurrence formulas for the Apostol-type numbers and polynomials. Advanced Studies in Contemporary Mathematics, 28(4), 643-657 doi:10.17777/ascm 2018.28.4.643

Kucukoglu, I., Simsek, Y., \& Srivastava, H. M. (2019). A new family of Lerch-type zeta functions interpolating a certain class of higher-order Apostol-type numbers and Apostol-type polynomials. Quaestiones Mathematicae, 42(4), 465-478. doi:10.2989/16073606.2018.1459925

Simsek, Y. (2017). Computation methods for combinatorial sums and Euler-type numbers related to new families of numbers. Mathematical Methods in the Applied Sciences, 40(7), 2347-2361. doi: $10.1002 / \mathrm{mma} .4143$

Simsek, Y. (2018). New families of special numbers for computing negative order Euler numbers and related numbers and polynomials. Applicable Analysis and Discrete Mathematics, 12, 1-35. doi:10.2298/AADM1801001S
Simsek, Y. (2019). Explicit formulas for $p$-adic integrals: Approach to $p$-adic distributions and some families of special numbers and polynomials. Montes Taurus Journal of Pure and Applied Mathematics, 1(1), 1-76.

Simsek, Y. (2021a). Construction of generalized Leibnitz type numbers and their properties. Advanced Studies in Contemporary Mathematics, 31(3), 311-323. doi:10.17777/ascm2021.31.3.311

Simsek, Y. (2021b). Interpolation functions for new classes special numbers and polynomials via applications of $p$-adic integrals and derivative operator. Montes Taurus Journal of Pure and Applied Mathematics, 3(1), 38-61.

Simsek, Y. (2021c). New integral formulas and identities involving special numbers and functions derived from certain class of special combinatorial sums. Revista de la Real Academia de Ciencias Exactas, Físicas y Naturales. Serie A. Matemáticas, (RACSAM), 115, 1-14. doi:10.1007/s13398-021-01006-6

Simsek, Y. (2021d). Miscellaneous formulae for the certain class of combinatorial sums and special numbers. Bulletin, Classe des Sciences Mathématiques et Naturelles, Sciences mathématiques, 46(1), 151-167.
Simsek, Y. (2022a). Applications of Apostol-type numbers and polynomials: Approach to techniques of computation algorithms in approximation and interpolation functions. In: N. J. Daras \& Th. M. Rassias (Eds.) Approximation and Computation in Science and Engineering, Springer Optimization and Its Applications 180, (pp. 783-860). doi:10.1007/978-3-030-84122-5_40

Simsek, Y. (2022b). Derivation of computational formulas for certain class of finite sums: Approach to generating functions arising from $p$-adic integrals and special functions. Mathematical Methods in the Applied Sciences, doi:10.1002/mma. 8321

Simsek, Y. (2022c). Some classes of finite sums related to the generalized Harmonic functions and special numbers and polynomials. Montes Taurus Journal of Pure and Applied Mathematics, 4(3), 61-79.

Srivastava, H. M., \& Kızılateş, C. (2019). A parametric kind of the Fubini-type polynomials. Revista de la Real Academia de Ciencias Exactas, Físicas y Naturales. Serie A. Matemáticas (RACSAM), 113, 3253-3267. doi:10.1007/s13398-019-00687-4

